
12.5, number 15: Give parametric equations for the line segment from

P = (1, 0, 0) to Q = (1, 1, 0). Please draw a picture.

Answer: There is a picture on the next page.

Walk along the line segment so that at time t = 0 you stand at P and at

time t = 1 you stand at Q.

The vector equation
−−−−−−→
P (x, y, z) = t

−→
PQ

gives you the itinerary from the previous sentence. In other words,

(x− 1)
−→
iii + y

−→
jjj + z

−→
kkk = t(0

−→
iii +

−→
jjj + 0

−→
kkk )











x = 1

y = t

z = 0,

for 0 ≤ t ≤ 1

gives the line segment from P to Q starting at P at time 0 and ending at Q

at time 1. (The back of the book starts on P at time −1 and ends at Q at

time 0. The statement of the problem does not give any instructions about

the starting and stopping time, so either of these answers (and many others)

are fine.)
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